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Ex/Phil/UG/5.3/37/2017

BACHELOR OF ARTS EXAMINATION, 2017

(3rd Year,  5th Semester)

PHILOSOPHY

[Logic (Indian) I ]

Full Marks : 30 Time : Two Hours

The figures in the margin indicate full marks.

1. (a) In what specific way does the hetvabhasa  called
‘badhita ’ stand in the way of inferential cognition ?

(b) What is the specific feature of a sat hetu that is not
satisfied in the case of svarupasiddha hetvabhasa ?

(c) How does Annambhatta


 define hetvabhasa  in

Tarkasamgraha Dipika ? 2½+2½+5=10

1
22 + 1

22 +5=10
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Or /

2. (a) Is there any specific reason for discussing the nature of
defective logical grounds immediately after the discussion
of the different marks of the proper logical ground ?
Discuss.

(b) What are the total features to be possessed by a proper

logical ground which is anvyavyatireki  in nature ?

(c) Do you think that all these features are to be satisfied
by a proper logical ground which is kevalanvayi  or

kevalavyatireki  in nature ? 3+3½+3½=10

2¼ •ß Â— ü È  Îý îÅÂõþ ¿õ¿ö Âi§ Æ õ¿ú ©†É ¿ò õþ+Âó Ë í õþ Õ ò ™LÃõþ Õ ü È  Îý îÅÂõþ ¦ ¤õþ+Âó

· Õ ±Ë ù ±äÂò ±

ß Âõþ¼

•à— Û ß Â¿éÂ û ï ±û ï  Õ i¤û þ õÉ¿îÂË õþß ÂÏ Îý îÅÂõþ Z±õþ± ÂóÓõþí Ïû þ ü ÷Åð û þ ñ÷Ç

ß ÂÏ ß ÂÏ ·

•á — îÅÂ¿÷ ¿ß Â ÷Ë ò  ß Âõþ û ï ±û ï  Îß Âõù ±i¤û þÏ Õ ï õ± Îß Âõù  õÉ¿îÂË õþß ÂÏ

· Õ ±Ë ù ±äÂò ± ß Âõþ¼

3+3 1
2 +3 1

2 =10
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3. (a) How does Annambhatta


 interpret the definition of
vyapti  offered in Tarakasamgraha ?

(b) Do you think that the relation of vyapti  can be
ascertained on the basis of repeated perception of the
copresence of the two relata ? Give reasons for your
answer.

(c) How can the doubt regarding the invariable relation
obtaining between smoke and fire be removed ?

3+3+4=10

3¼ •ß Â— îÂß ÇÂü Ñá èË ý  Ã›¶ð M õÉ±¿lõþ ù Ž Âí  Õ i§Ñö ÂA ß ÂÏõþ+Ë Âó  õÉ±àÉ±

ß ÂË õþË åò ·

•à— îÅÂ¿÷ ¿ß Â ÷Ë ò  ß Âõþ ü ¥ ¤¿gÂZË û þõþ ü ±÷±ò ±¿ñß Âõþí É õ±õþÑõ±õþ ð ú ÇË ò õþ

Z±õþ± îÂ±Ë ð õþ ÷ñÉ¦ š õÉ±¿l ü ¥ ¤Ë gÂõþ áèý í  ü yÂõ ·

•á —

ü yÂõ · 3+3+4=10

Or /

4. (a) Is it possible to account for the origination of inferential
cognition items of the two states of cognition known as
paksadharmatajnana


 and vyaptijnana ? Discuss.
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(b) On what specific ground does Annambhatta


 admit
paramarsa  as the karana


 of anumiti as such ?

(c) How can the perception resulting after samsaya  be
treated as paramarsajanya jnana  ? 4+3+3=10

4¼ •ß Â— ‘ ÂóŽ Âñ÷ÇîÂ±:±ò ’ Ý  ‘ õÉ±¿l:±ò ’ ò ±Ë ÷ Âó¿õþ¿äÂîÂ :±ò ZË û þõþ ÷±ñÉË ÷

Õ ò Å¿÷¿îÂõþ ë Â×È Âó¿M ß ÂÏ õÉ±àÉ±îÂ ý Ë îÂ Âó ±Ë õþ·

•à—

ß Â±õþí õþ+Ë Âó  ¦ ¤Ïß Â±õþ ß ÂË õþò ·

•á — ß ÂÏõþ+Ë Âó  ü Ñú Ë û þ±Mõþ Ã›¶îÂÉŽ ÂË ß Â Âóõþ±÷ú Çæ ò É :±ò  ¿ý Ë ü Ë õ á í É

ß Âõþ± û ±û þ· 4+3+3=10

Answer within 200 words.

Õ ò ¿ñß Â 200 ú Ë s ë Â×Mõþ ð ±Ý ¼

5. In what specific way the totality of five sentences pratijna
etc. equip the listener to infer ? Discuss. 5

5¼ Îß Â±ò  ¿õË ú ø  ̧ ë Â×Âó ±Ë û þ Ã›¶¿îÂ:±¿ð  Âó=±õû þõ ü ÷Åð û þ Î|±îÂ±Ë ß Â Õ ò Å¿÷¿îÂõþ

æ ò É Ã›¶dîÂ ß ÂË õþ· 5

[  4  ]
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Or /

6. (a) On what ground is the absence of siddhi to be treated
as a condition for inferential cognition ?

(b) Do you think that wherever there is siddhi inferential
cognition will fail to result ? Discuss. 2+3=5

6¼ •ß Â—

ý Ë õ ·

•à— îÅÂ¿÷ ¿ß Â ÷Ë ò  ß Âõþ Îû à±Ë ò ý × ¿ü ¿XÂ õîÇÂ÷±ò  Îü à±Ë ò ý × Õ ò Å¿÷¿îÂõþ

ë Â×È Âó¿M ü yÂõ ò û þ· Õ ±Ë ù ±äÂò ± ß Âõþ¼ 2+3=5

7. What is the second instance of samanyatodrsta anumana
  

stated by Vatsyayana ? Do you consider it as a single
anumana ? Give reason for your answer. 2½+2½=5

7¼ ü ±÷±ò ÉË îÂ±ðÔ©† Õ ò Å÷±Ë ò õþ õ±È ü É±û þò  Ã›¶ðM ¿ZîÂÏû þ ë Â×ð ±ý õþí ¿éÂ ß ÂÏ· îÅÂ¿÷

¿ß Â Û ¿éÂË ß Â Û ß Â¿éÂý × Õ ò Å÷±Ë ò õþ ¦ šù  õþ+Ë Âó  á í É ß Âõþ· ¿ò æ  ÷Ë îÂõþ Âó Ë Ž Â

2 1
2 +2 1

2 =5

Or /
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8. Analyse the definition of inference given by Gautama. Do
you think that the process of inferential cognition involves
just one perceptual cognition ? Discuss. 3+2=5

8¼ Îá ÌîÂ÷ Ã›¶ð M Õ ò Å÷±Ë ò õþ ù Ž Âí  õÉ±àÉ± ß Âõþ¼ îÅÂ¿÷ ß ÂÏ ÷Ë ò  ß Âõþ

·

Õ ±Ë ù ±äÂò ± ß Âõþ¼ 3+2=5

—————
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